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StdHor P1:rize(C1) P2:fall{C1) P33 period(C1) P4 freq(C1) Poweicthi(C1) PE:cuty (1) PP delay(C1)  Panpoints(C1)
value 1.560 Nz 1463 ns 4 834 nz 206.03 MHz 2378 ns 43.001 % -47 997 nz 1.000e+3
MeEan 1.568 Nz 1.5934 n= 4 8046 n= 208 395 MHz 24679 n= 21380 % 482842 ns  1.0000000e+3
min 209 p= 285 p= 3.221 n= 97 22 MHz a82 p= 13115 % -43 520 nz 1.000e+3
JE=F 97 527 n= 40,497 nz 10,286 n= F10.51 MHz 3.830 Nz g4 964 9% -46.477 Nz 1.000e+3
zdey 1.895ns gyl ps 2026 p= G645 MHz 2023 p= 4100 %% 1699 p= 0
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StdHor P1:rize(C2) P2 falllC2) P33 period(C2) P4 freq(C2) Poweicthi( 220 PE:cuty (T2 PP delay(CT2)  Ponpoints(C2)
value 286 p= 291 p= 1.00133 nz 995 65 MHz Q223 p= 20156 % -243577 ns 1.000e+3
MeEan 288.224 p=z 291 476 p= 999973 p=  1.000029 GHz 499813 p= 499527 % -2434665 0z 1.0000000&+3
iy 29 p= 280 p= 994 35 p= 934 51 MHz 4393 45 p= 49423 % -2.44063 Nz 1.000e+3
JE=F 295 p= 302 p= 1.00552 Nz 1.00565 GHz 20589 p= 20542 % -2.42926 Nz 1.000e+3
zdey 2465 p= 2602 ps 1.406 p= 1.406 MHz 1.6EE p= 1508 mS% 1573 ps 0
MILITY 24 530e+3 19 624e+3 19.624e+3 19 624e+3 19.624e+3 19 624e+3 4 906e+3 4 906e+3
status v v v v v v v v

hi=to

F1  hist(freq(C2)

200 mt i RIS

0.0 mY offzet 1.00 kS

TELEDYNE LECROY 8/20/2016 3:39:37 PM



File ettical

Timebase

Trigger

Display

CUFSars

Measure

hlath

Analysis

Litilitie s

Help

GO i

0.0 mY offzet

TELEDYNE LECROY

P1:rize(C2)
274 p=
272799 ps
268 p=

289 p=
1.604 p=
15.631e+3
v

10.0 cBfddiv

300 MHZ i

P2 falllC2)
280 p=
277509 ps
272 p=
293 p=
1.680 ps
15.950e+3
v

P33 period(C2)

99313 ps
999 9662 ps
937 49 ps
1.00240 Nz
BEO.S f=
15.631e+3
v

P4 freq(C2)
1.00087 GHz

1.0000343 Hz

H97 61 MHz
1.00252 GHz
BE0.5 kHz

15 631e+3
'

Poowicth(C2)
433 47 pz
495 5586 ps
435 46 p=
201 67 ps
Fi04 fs
15.950e+3
v

PE: duty(C2)
49 555 %
49 55042 %
49 570 %
50129 %,
7075 m%
15 531 e+3
W

P delay(C2)
-24 93411 nz

-24 9347483 n=

-24 93663 Nz
-24 932845 Nz

72 t=

34

PE:npaintz(C2)
10.000e+3
10.000000e+3
10.000e+3
10.000e+3

4149

RIS

10.0 k=

imebasze
=2.00 nasfdiv

0.0 n=

=top

0.0 ms

200 G=fz | Edge Positive

2002016 4:05:57 P



File ‘erdical Timebase Trigger Display  Cuorsors Measure  Math  Analysis  LHilities  Help Autoset:

500 m'y v 500 midiv 500 m i 500 m v
100 m=div 100 m=Sdiv 100 mzidiv 100 maidiv

TELEDYNE LECROY ammzm 53314 P




File  “erdical Timebase Trigger Display Cursors Measure  hath

F Y
StdHor P1:rize(C3) P2 fall{C3) P33 period(C3) P4 freq(C3)
valle 901 .9ns fM0nsz 199932724 ms 200168171 Hz
mean g29.19 ns =210 ps 19167 ms B33 kHz
min 3416 ns =18.2ns 8.1 ns 499854704 Hz
M 9955 ns = 93228667 mz 200058135 ms  26.244479 MHz
zdey f8.2ons =1.143ms 38952 ms 3397 MHz
ML 1.045e+3 50 991 931
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hi=to

Analysis  Litilities

Poowvicthi T3]
93182197 mz
8.934 m=

121 n=
93337290 mz
1.826 m=

991

v

1.00 % idis

-2.000 % ofs

TELEDYNE LECROY

Help

PE: cduty(C3)
46 507 %
46.751 %

5148 %
a0.719 %
4 5336 %
931

v

P delay(C3)
-99 9645050 ms
-99.972974 ms
-99.991 3970 m=
-99 9455696 ms
8.831 p=

95

PE:npaint=(C3)
10.000000e+5
10.000000e+5
10.000000e+5
10.000000e+5
0

95

imebaze

10.0 M=

Figoer

] F:I

o)

BrAE2016 11816 AW



Analysis  Litilities

File ‘Verical Time Trigger Display  Cursors  Measure  Math

..................................... rDehugcnanednrlwnhprdhEHFPESDD __|¢||
Cz
ik

imebaze

200 m iy

-2.000 Vv ofst

100 ks

TELEDYNE LECROY axzﬁxzm 1:42:10 AM



File ‘Verical Time Display  Cursors Measure  Math  Analysis  Liilities

imebase
100 midiv 200 =top 1 mY
0.0 mY offzet 400k= 20 Edge Positive

TELEDYNE LECROY BIZEI2016 1:49:02 A




|_| n |:| (m ]

File ‘erdical Timebase Trigger Display Cudrsors  Measure  Math  Analysis 15 Z00m | gy
: : © pind XTALY : : : :

A
StdHor P1:rize(C3) P2 fall{C3) P33 period(C3) P4 freq(C3) Poweickthi( T30 PEcuty (T3] PPdelay(T3)  Ponpoints(C3)
value 833 ps a40 p= £53.99588 nz 15 62535 MHz 31.8601 Nz 49778 % -223.8691 Nz 10.000e+3
MEan 543,37 p= 939.87 ps 6399541 nz 15625390 MHz 31.86451 nz 4978961 % -223.8586453 ns  10.000000e+3
iy 728 ps 749 ps 63.9121 nz 15 6050 MHzZ 31.7850 Nz 49,690 % -223.9625 Nz 10.000e+3
JE=F 975 ps 960 ps 64.05822 Nz 15 6465 MHz 31.9490 nz 49917 % 2238114 ns 10.000e+3
zdey 2723 ps 24 80 ps 18.09 p= 4 416 kHz 158.94 p= 20.70m% 19.06 p= 0
MLm 52.99%9e+3 G.GoGe+3 2.142e+3 2.142e+3 52.99%9e+3 2.142e+3 ga7 ga7
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